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Maths Teacher:

I NSTRUCTION.S TO CANDI DATES

DO NOT TURN OVER THIS PAGE UNTIL YOU ARE TOLD TO DO SO.

FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL THE QUESTIONS.

SHADE YOUR ANSWERS lN THE OPT|CAL ANSWER SHEET (OAS) PROVIDED-



Questions 1 to 15 carry 2 marks each. For each question, four options are given. One of
ttrem is the correct answer. Make your choice ('1,2,3 or 4). Shade the conect oval
(1, 2, 3 or 4) on the Optical Answer Sheet. (30 marks)

1. 24 thousands and 6 tens is the same as

(1)

(2)

(3)

(4)

246

2460

24006

24 060

15, 16

15,23

17, 18

17, 21

2. Complete the number pattem.

5, 9, 13, _,25

(1)

(2)

(3)

(4)

3 Which of the following is not an equivalent fraction * l,

(1)

(2)

(4)

2

8

3

10

4

16

5

20

(3)
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4. How many on+fifthg are there in 3 wholes?

15

(21 5

(3)

(4)

5. What is the number when 118.64 is rounded to 1 decimal place?

(1) 118.0

(2't 118.6

(3) 118.7

(4) 11e.0

Figure ABCDEF is drawn on the square grid shown.
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Which statement is true?

AB is parallelto FE.

BC is parallelto AF.

AB is perpendicular to BC.

DE is perpendicular to EF.

(1)

(2)

(3)

(4)
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